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QUESTION 6

a)

Describe the three types of elasticity of demand and give one example of each of these types.
Discuss how elasticity can be used in managerial decision making

= Perfectly Inelastic

=  Quantity demanded does not respond to price changes.

= Ex: medicine required to live, gasoline for cars, oil, - any reasonable and justified answer is fine.
=  Perfectly Elastic

= Quantity demanded changes infinitely with any change in price.

=  Ex:any good with many substitutes because a small change in price will make the person move to another
product and buy that product

. Unit Elastic
= Quantity demanded changes by the same percentage as the price.

= Ex: no real definite type of products but nay product where 1% increase in price creates a 1% decrease in
Qd and vice versa

b. Lecture 6 Slides 41 onwards

In business, the firm will want to discover the relationship between Qd and Price and thus the resulting effect on total
revenue. This determines price strategy as to whether it is a good idea to raise or lower the price of the good because the
firm always want to increase revenue as a result of the price strategy. Firms use elasticity to be able to predict the results
of the price change and resulting effect not just on quantity demand but on total revenue. See table below for important P
and Q to total revenue results.

.. . . Changes in Total
Elasticity Changes in Price 8
Revenue
Increases Increases
ep<1
Decreases Decreases
1 Increases Unchanged
€p =
Decreases Unchanged
Increases Decreases
ep > 1
Decreases Increases




QUESTION 7

Qp=8-P Qs=%P-1

a. Calculate the equilibrium price and quantity.

b. Please graph this problem labeling all lines, axes, and the equilibrium, price, slope, intercept and quantity
The government institutes a price support program where the support price is $4. Calculate the resulting shortage or a
surplus value and then show this on the same graph in part b.

d. The government institutes a price support program where the support price is $10. Calculate the resulting shortage or a
surplus value and then show this on the same graph in part b.
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QUESTION 8

Provide a value and explanation for each of the following. Be sure to note if these products are complements, substitutes or
unrelated in your explanation.

a. Anincrease in the price of chicken from $1.50 to $2.10 per pound increased the average packages of turkey demanded per
week from 300 to 360 Assuming that all other economic variables were held constant, the cross-price elasticity of demand
between chicken and turkey is which indicates that the two goods are /

b. A café observed an increase in the demand for its milk following a rise in the price of a cup of iced tea from $1.20 to $1.50.
Assuming the cross-price elasticity of demand for milk with respect to a change in the price of iced tea is +0.8, by how
much (in per cent) will the demand for milk have increased?

C. The price of good X falls by 15 %. As a result, the demand for a substitute good Y rises by 30 %. What is the cross-elasticity
of demand for good Y with respect to good X?

d. If the cross-price elasticity of demand for samosas and sushi is 0.6 and presently 1000 units of samosa are consumed, how
many units of samosas will be consumed if the price of sushi increases by 10%?
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QUESTION 9

Oatmeal is an inferior good and cold cereal is a substitute for oatmeal. The cross-price elasticity of Raisin with respect to
oatmeal is negative.

Using a well-labeled graph show the effect on the oatmeal market for each of the following. (Please also provide a brief
explanation of the relationship (e.g., positive/negative) and the reasons/logic for the relationship.

a. An increase in the price of raisins.

b. An increase in income.

c. A decrease in population size.

d. An increase in the price of cold cereal
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